
8�� x ∈ Rn; A0, A,B,Bi (i = 1,m 6 ;�'��.  �� 0���#4� '���%��'�%�-?#< ��20���%! ;�#(�0
detA0 = 0; x0 6 2���  �� n,%������ ϕi(t), 1 ≤ i ≤ m 6 2���  �. ��'�( �, �;����% �.  �
;��0�/����< [−hi, 0)− n,%�����,3� �4#.� u r,0�� �� ��'����( � 8$����� �;��%$� #��

��(�$& �� '�'��. #� A5B �$. '#'��0� A9B  �2�%�0 ��;�'�#0�0! �'$# '#'��0� A9B ;�#
���0 '�'��. ## #0��� <��. 1� �� � ���� #�� �'$# �$. ��/��8� ��;�'�#0�8�  �(�$& �8�
'�'��. #. A5B '#'��0� A9B #0��� ��# '�%�  �� ���� #�! �� ����- '#'��0� 1���0  �2�%��&
'�%0�'� ���

�#'��0� A9B  �2�%�0 ��8�$.� ��! �'$# ��8�$.�� ;�(�� 0���#4 (λA0−A), �� ��  �����'.
λ0 ∈ C �����! (�� det(λ0A0 −A) �= 0.

	���! ;�'�& '#'��0� A9B .%$.��'. ��8�$.� ��� �%���0 % ��''0���� #� 0���#4�

Â0 = (λ0A0 −A)−1A0, Â = (λ0A0 −A)−1A,

B̂ = (λ0A0 −A)−1B +
m∑
i=1

e−Âd
0Âhi(λ0A0 −A)−1Bi,

8�� Âd0 6 �1��� �. ���2# � 0���#4� Â0.
��8��! '�8$�' � �9�! �5� '#'��0� A9B '�%0�'� � # �� �1?�� ���� #� ;���'��%#0� % %#��

x(t) = eÂ
d
0ÂtÂ0Â

d
0q +

t∫
0

eÂ
d
0Â(t−τ)Âd0B̂u(τ)dτ AtB

+(En − Â0Â
d
0)
k−1∑
i=0

(−1)i(Â0Â
d
0)
iÂdB̂u(i)(t)dt +

m∑
i=1

( t∫
t−hi

eÂ
d
0Â(t−τ)Â0Â

d
0Qiu(τ)dτ

)
,

8�� Âd 6 �1��� �. ���2# � 0���#4� Â; k 6 (#'$�,# ���' 0���#4� A0; q 6 ;��#2%�$& ��
n,%�����! U n× r,0���#4� Qi ���%$��%��.�� ���% � #-

Â2
0Â

d
0Qi = −e−Âd

0Âhi(λ0A0 −A)−1Bi, 1 ≤ i ≤ m.

	'<��. #2 ;���'��%$� #. AtB ���� #. '#'��0� A9B .' �! (�� %����� x0 # 3� �4##
ϕi(t), i = 1,m  �(�$& �8� '�'��. #. A5B ��;�'�#0�! �'$# � # ���%$��%��.-� ��%� '�%�

x0 −
m∑
i=1

( 0∫
−hi

e−Âd
0ÂsÂ0Â

d
0Qiϕi(s)ds

)
= Â0Â

d
0q + (En − Â0Â

d
0)
k−1∑
i=0

(−1)i(Â0Â
d
0)
iÂdB̂ui(0).
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�# 8�$.� �0# ;�%��< �'�.0# % �#33��� 4#�$& �< #8��<  �2�%�-� ;�%��< �'�# % ;��,
'��� '�%� #8��!  � ������< �;�#0�$& �� �%#/� #. '#'��0� #0�-� �'�1�  �'�# A#2$�0�!
'$#. #.! ��'?�;$� #.B� 	''$���%� #� ���#< ;�%��< �'��� .%$.��'. %�/ �0! ;�'��$&�� � #
��-�  ��#� �'��$��� '���� #. #8��� �' �% �. #��. �$�''#3#��4## '# 8�$.� �< ;�%��<,
 �'��� ;���$�/� � ��
�2��'�0 % �8� � #8� �9��
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�� ��� �� ;�'$�� �8� %��0� # ��'��'�%�%�$# �1?#� �$8��#�0� (#'$�  �8� ;�'���� #.
'# 8�$.� �< ;�%��< �'����

��''0���#%�-�'. � ��8� #'�#(�'�#� �#33��� 4#�$& �� #8�� �5�

ẋ = A(t)x+B(t)u+ C(t)v,
t ∈ [t0, T ], x ∈ Rn, u ∈ P ⊂ Rp, v ∈ Q ⊂ Rq,

ϕ
(
xi(T ), xj(T )

)
→ min

u
max
v
.

A9B

' $# �� �� �# �0#��� # 3#�'#��%�  �0 0�0� ��0 ��� (� #. T � �;��%$� #. u ;��%�8�
A0# #0#2#��-?�8�B #8���� # v %����8� A0��'#0#2#��-?�8�B '��' � � %�;��$�0# ��0,
;��� �0# �8�� #(� #.0# P # Q % '%�#< ;��'��� '�%�<� ���0# �$& �. 3� �4#. ;$��� ϕ
2�%#'#� $#�& �� �%�< ��0;� � � 3�2�%�8� %������ % 0�0� � ��� (� #.� "� �4#. ϕ '(#��,
��'. �%�2#%�;��$��! �� �'�&! #0�-?�� %�;��$�� 0 �/�'�%� ���% .�

�� �� 1�$# ��2��1��� � �t� �$8��#�0� # ;��8��00� ;�'���� #. '# 8�$.� �< ;�%��< �,
'��� % #8��< �#;� A9B� S�# ���0 ;���;�$�8�$�'&! (�� �;��%$� #. #8����% .%$.-�'. '��$.�,
 �0#! �8�� #(�  �0# ;� 0���$-� ��$&  �'��.?�8� ���$��� ~ ��''��2��& �1 �$8��#�0�<!
'�2��  �< �$. '$�(�. ;��#2%�$& �< ��0;��� �< '���8� %�;��$�< �8�� #(� #� P # Q  �
�;��%$� #. #8����%�

� �' �%� ;�'���� #. '# 8�$.� �< ;�%��< �'��� $�/�� ;��4����� �)� �� '���#��%� #.
0��'#0�$& �< '��1#$& �< 0�'��% A0 �/�'�% ���% . 3� �4## 4� � #8��B� S�'���� #.
%����'. % ���<0�� �0 ;��'��� '�%� OFET? × SKOIOG>ERHR[E KBBFPIRGH[� S���<�� � �%�,
0�� �� ��%#%�$� � �� ;���0�  �� ξ �'�?�'�%$.��'. ;� 3��0�$� ξ(t) = Xi,j(T, t)x(t)! 8��
Xi,j(T, t) ~ 0���#4�! '�'��%$�  �. #2 i,� # j,� '���� 3� ��0� ��$& �� 0���#4� ���#
X(T, t) '#'��0� ẋ = A(t)x� � ��2�$&���� ����8� ;���<��� ;�$�(��0 �#33��� 4#�$& �-
#8�� %#��

ξ̇ = D(t)u+ E(t)v,
t ∈ [t0, T ], ξ ∈ R2, u ∈ P ⊂ Rp, v ∈ Q ⊂ Rq,

ϕ
(
ξ1(T ), ξ2(T )

)
→ min

u
max
v
.

D(t) = Xi,j(T, t)B(t), E(t) = Xi,j(T, t)C(t).

�$. ��/��8� 2 �(� #. c 3� �4## ;$��� ϕ �� '���#����'. �� 0 �/�'�%� ���% . Mc�
����0  � %�1��  �� '���� {ti} 0�0� ��% %��0� # '���#�'.  �1�� %�;��$�< 0 �8��8�$& #,
��% Wc(ti)! ;�#1$#/�-?#< '�(� #. Wc(ti) 0��'#0�$& �8� '��1#$& �8� 0�'�� Wc! �1��%�,
-?�8�'. % 0�0� � ��� (� #. T  � 0 �/�'�%� Mc�


$8��#�0 ;�'���� #. '# 8�$.� �< ;�%��< �'��� %'���#%���'. % ;��4����� ;�'���� #.
�(���� �8� '�(� #. '��1#$& �8� 0�'��� S�# ;�'���� ## �(���� �8� 0 �8��8�$& #�� Wc(ti)
 � �8� 8�� #4� ���'�#%�-�'. ��(�#! ������0 ;�'$� � �$#2� ;�#;#'�%���'. ��� #$# # ��
�#; '# 8�$.� �'�#� ��(�#! ;�'����  ��  � ;�'$���%���$& �< '�(� #.<! '���# .-�'. % '# ,
8�$.� �� $# ##! $�/�?#�  � 8�� #4� 0��'#0�$& �8� '��1#$& �8� 0�'��� �# ##! ' .��� '
'#'��0� 0��'#0�$& �< '��1#$& �< 0�'��%! �1���# .-�'. % '# 8�$.� �� ;�%��< �'�# A;�,
%��< �'�# ;����$-(� #.! ��''�#%�-?#�! � #%��'�$& �� # ��#%���$& �� ;�%��< �'�#B�

����(� %�2��� �8� ;���<%���! #''$����0�. %� 0 �8#< ��1���< R�]ZPVUK A'0�!  �;�#,
0��! �u! y�B! #';�$&2�%�$�'& % ��(�'�%� �� �8� #2 ��'��%�< ;�#0���%!  � ������< ��$�,
/#%�$#'& �$8��#�0�� � ���$��� 1���� ;�#%��� � ��2�$&���� (#'$�  �< ;�'���� #� '# ,
8�$.� �< $# #� # ;�%��< �'��� % ���� 2���(� ;�# ��2$#( �< %��#� ��< �� ;���0����%�
S�$�(� � <������ '�%;��� #� ' ��2�$&����0# � �$#�#(�'�#< ;�'���� #� #2 ��1��� �y��

��''0���� � ���/� 2���(#! �� �'.?#�'. � �$�''� #8� ��1�1?�  �� �� ���$& �� ;�#,
0�� ����S� ��.8# ��� S���1�� � ;�#0���! % ������< 0 �/�'�%� ���% . 3� �4## 4� �
#0�-� ��2�#� ����#� �:�� 	0�  � % ���#< '$�(�.< %�2 #��-�  ���#%#�$& �� �$. (#'$� ,
 �< ;�'���� #� '# 8�$.� �� $# ## # ;�%��< �'�#�
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� ���$��� ��''0���#%�-�'. �%� %2�#0�'%.2�  �� 2���(#� �;����$� #� ��'����( �<
�'$�%#� ��1�'� �� �'���(#%�'�# % 2���  �� �1$�'�# X '�0��'�%� '#'��0

Xn+1 = F (Xn, Ln), X0 ∈ X, A9B

8�� Xn ∈ Rm ~ %����� '�'��. #.! Ln ∈ Rk! F (·) ~ �� �2 �( �.  �;����% �. 3� �4#.!
����.! (�� F (0, Ln) = 0 ∀n ∈ [o; ∞)� Ln ∈ Rk ~ %����� ;���0����%! �$. ������8� 2��� �
�8� �;�#�� �. �4� ��! Ln ∈ L ∀n ∈ [0, ∞) ~ �8�� #(�  �� %�;��$�� 0 �/�'�%��

�$. � �$#2� ��1�'� �� �'���(#%�'�# '�0��'�%� '#'��0 A9B! 8�� Ln ∈ L %%��#�'. 3� �4#.
�.;� �%� % %#��

vn = ‖Xn‖. A5B

�� ;��%�. ��2 �'�&! %�(#'$.�0�. % '#$� A9B! ��% �

Δvn = vn+1 − vn = ‖F (Xn, Ln)‖ − ‖Xn‖. AtB

��;�$ � #�  #/�'$���-?�8�  ���%� '�%�

max
Xn∈X;Ln∈L

{‖F (Xn, Ln)‖ − ‖Xn‖} < 0 ∀n ∈ [0;∞) A)B

.%$.��'. ��'����( �0 �'$�%#�0 ��1�'� �� �'���(#%�'�# ��''0���#%��0�8� '�0��'�%� '#,
'��0 % �1$�'�# X�

�$. ;�$�(� #. �� '�����#% � ;��%��.�0�< ��'����( �< �'$�%#�! '$���. ��
� ���1�,
�# �!  �$# �� �- '#'��0� A9B ;���'��%#0 % �%�2#$# �� �� 3��0�! #';�$&2�. '��� ��� #�

Xn+1 = F (Xn, Ln) = Φ(Xn, Ln, S)Xn, AuB
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